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Class — X

There are 100 questions in all. For each question
four alternatives (1), (2), (3), (4) are given as
answers. From these, find the most appropriate
and correct answer. The number denoting this
answer is there in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black ball pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the

purpose.

1. Analyse the statements and find the

correct answer.
If A+B>C+Dand

B+C > A+D, then it is definite that :

(1) D>B 2) C>D

3) A>D 4 B>D

2. Gopuranks sixth from the top and twenty-
seventh from the bottom in a class. How

many students are there in the class ?

ENG+MAL

MAT A

@6 100 G2l0B|IBR6M HBR®. BOCMD
calogyemlmio (1), (2), (3), (4) agom
@PSWIReQ|S)OTI@ moal oemesmid afleo
O1B0SIOTISIENS. @RI R0 @OMIGQOLR-
D0Q®Io NAVWIVDIDOD  HEMAO BHONS-
OIS, 0D OEMOODD dhyGlHHIM MMUD
OODOsOSLIOMI@ (OMR oAlGI@)  @omory
62106y MMUAIM eMAHE ©6NE. VOIWOW
pEMmoeEm Mioflallénimm alyjemo miel/
®0Jaf DaHl®Igs MNIORBOIM §alewousle)
HOla]lH6idh. QOMOEBR @OalHo00 OMR
HOMEHOHSLIIMIG B @0 CREUOAISIOD}d:.
6 0106)6masSElQ MO0 Haldlemad
MlemBRIOS COOW MMIo, Oan AUBHEIMY
calendl @Mlgias  MOeIE®m  MSEMINM
HIGlaibalo B¥1edH MORIMI0 af)PIMDYD.

1. ®mMIg8s M ®OAUMEWD lltodeimo
£.2100® NOIQOW HBMOO B6)6NMBEBT)H:.
A+B > C+D eoen

B+C > A+D @en. spau@l@ mlan
AR @y@MOQS alOWOQRM®) :

(1) D>B 2) C>D
B) A>D (4 B>D
2. 80 HOWleal  H:Slees 00®

©21Qeal0d 6WIal) MBEI@ mlan’
@DOODMI0 IO MM D) IEBIGQPO-
QO@I6M. ag)ss1@ O ag)® BSlH0d

e6ns ?
1) 31 2) 32
(3) 33 (4) 34

P.T.O.
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3.

If first September 2019 is Sunday, then first
October 2019 will be :

(1) Sunday (2) Monday
(8) Tuesday (4) Wednesday

If P means ‘division’, T means ‘addition’,
M means ‘subtraction” and D means
‘multiplication’, then what will be the
value of the expression
12M12D28P7T15?

1 -21 Q) -15
(3) 15 (4) 45

Arrange the given words in a meaningful
sequence and then choose the most
appropriate sequence from amongst the

alternatives provided below.
(a) Doctor

(b) Fever

(c) Prescribe

(d) Diagnose

e) Medicine

Let a, b, c and d be natural numbers such
that a—3012 = b+3013 = c+3014 =
d—3015. Which one of the following is

the smallest natural number ?

1) a (2) b
®) c 4) d

ENG+MAL

MAT

A

2019  emaigoenid BMIo®W®]
MHOWOOY 2 1QI6EM . ag)ssl@d 2019
B>6S06NId BMIoBIWE) :

(1) emoWd (2) ®l®w

(3) ea10qy (4) enpwWd

P ag)m® ‘a006m’ e@®®@io, T ag)(ma
‘mgseIm’ eam o, M ag)M @y
‘QyaldRIN’ BEM®Y0, D ag)m@ ‘uviemm’
com®@io  Miallaflenyomy.  ag)sslad
12M 12D 28 P 7 T 15 -og allel agyaw ?
1 -21 2 -15

(3) 15 (4) 45

21)QUOS OISO AL UIHEIEHOS
@OAMACUEDOIQ BB QIED (>0 BHB 6.
ag)MIg @I el tdEloRfgIea®
2Q1OSWERRAURIE@ AT B66NSEBH.
(@) GILRA

(b)  aucr]

(c) ReaUTloed:

(d) GEOWEAIEHeMo 66 MIQem-

WP
(e) oM
1) (@) (d), (©) ®), (e)
) (®), (@) (9) (d), ()
(3)  (b), (a) (d) (9, (e)
@) (b), (d), (), (e), ()

a, b, ¢, d ag)alal ag)eM@ avosyE-E06M.
a—3012 = b+3013 = c+3014 =
d—3015 EOOI@ 21JAUOS 6)BHISIO®-
U@ o@ralo ©2IC1W ag)ep@d Mvos)
a® ?

1) a 2) b

@) c 4 d
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7.  Find the missing number, if the series of | 7. ®mMIg 88 2l(@B81OS GUHM] B0}

figures follow a certain pattern.

(1)
(3)

Directions (Questions 8 to 11) :

A

15
18

12
20

(IB®Yds> a10BREMIRI06EMELIM (151G 10w
(MO6LY BHEIENSEYBH:.

A A
24 ?
12 10 8 6
1) 15 @) 12
3) 18 4) 20

T1de3ERW (@al10B)6RM 8 )@ 11 AUenr) :

Study the given figure carefully and answer the | 6®05)0®m15)88 2/(®o WOIWOV alolayls

questions that follow. The figures given are | ayIeSW 88 B2l0B6IB8INS PIGOICES
square, circle, triangle and rectangle.

HHOMBODE:. ®MISES 2 (@B maI®)oo,

>

5

S
(07e]

9 12

i
(=)

2

8.  Which number belongs to all the figures ?
1 3
(2) 4
3) 6
(4) None of these
9.  What is the sum of the numbers which
belong to two figures only ?
1) 6
(2) 15
(3) 20
(4) None of these
ENG+MAL

QU @™o, (@ GHI6MO, Bldeplal®my0o
ag)amlau@oen.

1 [4 8
10 9 12

8. afplo allmensgleljo ald®mnlowes
(vo6y aR®I6eN ?

1 3
(2) 4
3 6
(4) OUOWOIMDELY

9. o al@eBgld od(®o QUMY
(MVOBUYHRINS @B ) @OOEN) ?

(1) 6

(@2 15

(3) 20

(4) OUOWOIMDEL

P.T.O.
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10.

11.

12.

13.

What is the product of the numbers which
belong to three figures only ?

(1) 90

(2) 540

(3) 440

(4) None of these

What is the sum of the numbers which

belong to one figure only ?

(1) 43
2 39
3 41
(4) None of these

A two digit number is reversed. The larger
of the two numbers is divided by the
smaller one. What is the largest possible

remainder ?

(1) 45 2) 36
3) 27 4) 9

See the number matrix given below. Row
wise or column wise these numbers follow
a certain rule. Identify this rule and find

the missing number.

2 14(0]3
11241
31111310

36| 2 | 91|28

ENG+MAL

MAT

10.

11.

12.

13.

A

oM 2(@EBElEd AU VoINS
WIeMManelo ag)@oe) ?

1) 90

(2) 540

(3) 440

(4) OAUOWIMIAL]

80 2l@OTIE O(@MES TVoELYEB-RIOS
@ )OO ?

(1) 43
2 39
(3) 41
(4) OAUOWIMIAL]

0] OM3HS MVobly BBlajlo ag)LImIMy.
O@l@ el Mosl)e® 6210w
MoRUIOBHOMNS a0BIHOHYIM].  WBlay OS]

a1€lH9 0l ag)gQdo aelw
MoEL\ER @ ?

(1) 45 (2) 36

(@) 27 4 9

2QUOSQIRE MoELYIOD(SIE MY B06M)Hs.
QUAIWOCWI MIOWICWI MoELE(D 0]
(C®myd Mmoo aldalesnymy. e
(le@ydH® amElensesl allgiealow
(VOB B6IENSOYB.

214(10]3
11241
3111310

36| 2 | 91|28
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14. Find the missing term in the series :

4,8,16, 2 , 44, etc.
(1) 24 ) 28
3) 32 4) 36

15. In the following number series one term is

wrong. Find the wrong term.
2, 5,10, 17, 26, 37, 50, 64

1 17 (2) 26
3) 37 (4) 64

Directions (Questions 16 to 20) :

Study the information given below and answer
the questions that follow :

There are five persons A, B, C, D and E. One is
a football player, one is a cricket player and one
is a hockey player. A and D are unmarried
ladies. They do not participate in any game.
None of the ladies play cricket or football. There
is a married couple in which E is the husband.
Bis the brother of C and is neither a cricket player
nor a hockey player.

16. Who is the football player ?

1) A 2) B
3 C 4 D
ENG+MAL

MAT A

14. 23OSWEE MVoelewyemiaieeal allg)-

GO alBo :

4,8,16, 2 , 44, etc.

(1) 24 ) 28
3) 32 4) 36

15. 2)0eSWBE Moely0BE UMW B30} alBo
OMAOEM. ORIV alBo dHEIENSETH:.

2, 5,10, 17, 26, 37, 50, 64
1 17 2) 26
3) 37 (4) 64

Tdeguem® (62103)6BW 16 m)@@d 20 AIO®):

®OOY  OBZISIEMIElEnyM  AUlIoaBd
Mgjalgno Aowilef) amMQESleNEes:. @odimy-
BUaYo ©1BIS)OTISIER C2I0B)EIRRINS HODO0
Qg) L YO

A, B, C, D, E ag)milaud @oeral quyd:@ile-goen.
@@I@ BOOW anYSeNIORD HElHHIMWIGI0,
BO0D (HHOF HEHHIMWORIo, BOOWD
Ba00HE) BElEeNM@OIMOeM. A -@io D -@o
@000  (YHaoem. @O
B0yeleflello al®:SIBONMAIOL]. SO
PSS (YBE000 (BHloHR @06)LJH1M an)SeNnIoud
S HOIMAIOL|.  HISOWIOal 06Ms18ald
A2l ®m0@ BMUEIROOd6M. MUGIMIGIEd E
oM BA®OQS. B ag)m ysml C -@es
MEaNIBOMOEM.  @OWID B0 (Bloeg
BG|HHODEMO BaOIBENHEIHHOOEMO @gY.

16. @OO6M aMSENIORD BHElHHOOMD ?
1 A (2) B
@) C 4) D

P.T.O.
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17.

18.

19.

20.

21.

22.

MAT
Who is the hockey player ? 17.
1 A (2) B
®) C 4 D
Who is the cricket player ? 18.
(1) B 2 €
G D 4) E
Who is the wife of E ? 19.
1 A (2) B
®) C 4 D
The three ladies are : 20.

(1) A B,C )
(3) A BD (4)

B,C D
A, C D

Adarsh travels 10 km towards North.
From there he travels 6 km towards South.
Then, he travels 3 km towards East. How
far and in which direction is he with

reference to his starting point ?

(1) 5 km West

(2) 7 km West

(3) 7 km East

(4) 5 km North-east

Which of the following words will come

first, if the words are arranged

alphabetically as in a dictionary ?

Spine, Spinal, Spindle, Spinet.
(1) Spine (2)
(3) Spindle 4)

Spinal
Spinet

ENG+MAL

21.

22.

@AM GaNIBE BlHeIM®) ?
1) A 2 B
®) C 4 D

@O (BB BlHNM@ ?
1) B 2 C
3 D 4 E

E -@j6)s @00y @oooam ?
1 A (2 B
G C 4 D

BISOTIeRl oy (YD
(1) ABC (2)
3) A B D 4)

B,C, D
A, C D

@B 10 &l.dl. AUSCHNIS aVErRUM]-
#9mMy.  @olles mlary @ocud 6 &sl.all.
OMEHHIS MEUMIHOHIMY.  allmls),
3 &l.al. HPEHN0S aVErRUMTHHIM].
)81 QO@ @SEMEIQ auael@mmlam
f)MBLIEDIE o@®  Sluowleloem’
@OEAU H8KR®) ?

(1) 5 &lal. alslemmod

(2) 7 #l.al. alslemmod

(3) 7 &l.al. Sless)

(4) 5 &l.al. USHS)-Bless)

80} WlBHademalQf@ 6805} B@lo6mM-
©)CalOOL! BOBHOMOL! (BHAOOTIE 2SS
60O @1 H6) M QUOHNHOE
(B01BHEl2 0@ @OBYo QUMMM QUOIHE
a@oeny ?

Spine, Spinal, Spindle, Spinet.

(1) Spine (2)
(3) Spindle (4)

Spinal
Spinet
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23.

24.

Which term will replace the question mark

in the series ?

ABD, DFI, GJN, NS, _ ?

(1) MRX (2) MRW

3) MQW (4) NRX

Levan and Kushan walk around a circular
park. They start at 7 a.m. from the same
point in the opposite directions. Levan
walks at a speed of 2 rounds per hour.
Kushan walks at a speed of 3 rounds per
hour. How many times shall they cross
each other after 7.00 a.m. and before
8.30 am. ?

Directions (Questions 25 and 26) :

In each question a letter-number series is given.

Find the next two terms in the series.

25.

26.

D-4F-6H-8]-10, 2 - 2.

1) K-12 2 L-12

@) L-11 4) K-11

O-241L-20,1-16,F-12, 2 -2

1) C-6 2) D-8

3) E-6 4 C-8

ENG+MAL

MAT

23.

24.

A

21)QAIOSWIES 6UYHEMIWIE B210By lam-
emlom  qadMmE®m QUM alBo
ay@oeny ?

ABD, DFI, GJN, JNS, _ ?

(1) MRX 2) MRW

3) MQW (4) NRX

BIQIMI0 &300MIo QIO @I Qenas
B0} al0HEIMY 213Ql0 MSHNM]. @D
ooleel 7 memles) eeoenflazali@d allom
Ul @l@ Gluodel@d meraidlesinmy. el
80} 06mlHeCId 2 OV BGCLN@QIRIDEN
MSHOIM@. Y0 B30Y M6m1H6C1Ed
3 0OD6NE GUMMWIIRINEM MVERUBIHEYME).
af)sl@ eodleel 7 memleeio 8.30 Mo
EDSWBE) ag)(@(I00URy0 @OAUD ol o
HSMYBalOdhlo ?

1 7 2) 6
3) 5 4) 4

T1dG3ERWD (8210B)6IBUW 25 o 26 §o) :

80600 B2I0BYEMILIJ0 B0 @OBUDTVOEIYD

suyeml ®@MIBIHHIM].

0D suyemlwieel

@OS)OD O6NE alBETBUD B6)6NSObs.

25.

26.

D-4F-6H-87]-10,2 - 2
1) K-12 2 L-12
@) L-11 4 K-11

O-24L-20,1-16,F-12, 2 -2

1) C-6 2) D-8

3) E-6 4 C-8

P.T.O.
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Directions (Questions 27 and 28) :

In each of the following letter series, some of the
letters are missing. Find the missing letters in

proper sequence from the four alternatives

given.
27. _nmmn_mmn_mmnn_
(1) nmmn (2) mnnm
(3) nnmm (4) nmnm
28. a_bccb_ca_cca_baab_c
(1) ababc (2) abcaa
(3) accab (4) bacaa

Directions (Questions 29 to 31) :

There is a relationship between the two terms

to the left of : : . Find the missing one in the next

pair holding the same relationship.

29. Circle : Diameter : : Square : __?

(1) Volume (2) Area

(3) Diagonal (4) Perimeter
30. Mango : Fruit: : Potato: _?

(1) Root (2)  Fruit

(3) Stem (4) Flower
31. Deuce : Tennis : : Googly : 2

(1) Cricket (2)  Football

(3) Hockey (4) Polo

ENG+MAL

MAT
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mdeguemB® (82106)6IBUD 27 §o 28 9o) :

®O6Y ®MIMIHHIMM G2I0BYHBUWD @OHHUO-
BUMIHW @OSINNOMe Q]SO QISS®O6T .
B060oMIAlo a@E®OMIo @RLHUOMBRD Q5]
salo@igienEg.  @mamiges moel &Emo quyalles-

&l mlamyo

Q1560  @OHHOEBID

OO (BHAOBIERSR®) B6N83al1Slo6)Hs.

27.

28.

_nmmn_mmn_mmnn_

(1) nmmn (2) mnnm
(3) nnmm (4) nmnm
a_bccb_ca_cca_baab _c

(1) ababc (2) abcaa
(3) accab (4) Dbacaa

mdegUEB® (8ald06)MBU 29 M®ED 31 AION):

®06)% MGl B2I0BYEEBREIED : : 2 lam@Blay
OS@IUNODIRE AUIHNIHWD ®OoNIE 630)
NINWAYENE. 09 eNIMWo aMESILI0SS] @SB
szoalefleal Allgiealo® QLOBE) B6)6NMBETB)E:.

29.

30.

31.

QIY@Mmo : QYOO © @ VD@00 : 2

(1) esssal 2)
(3) lledemo 4)

aloo]ant

2lg8al

QOETB : al¥o @ : HOIRHEPETS 1?2

(1) eu® (2) atgo

(3) meng (4) anal
Y : esamilony’ s ol s 2

1)  @>leeg (2)  ansSENIOW
(3)  Ga0IHs (4) ©GaI0G80



Class — X

Directions (Questions 32 and 33) :

There is a certain relationship between two
numbers on one side of : : . One number is given
on the other side. Identify the number having

the same relationship in first case.

32, 3:243::5:_2

(1) 425 (2) 465

3) 625 (4) 3125
33. 25:37::49: 2

1) 41 2) 65

(3) 56 4) 60

Directions (Questions 34 to 36) :
Choose the odd word which is least like the other

words in the group.

34. (1) Copper
(2) Zinc
(3) Brass
(4) Aluminium

35. (1) Calendar
(2) Year
(3) Date
(4) Month

36. (1) Trunk
(2) Tree
(3)  Fruit
(4) Leaf

ENG+MAL

MAT

m1de3eBW (821960 32 9o 33 o) :

;1 2flam@ O B0 LUNDDRE 6NB MVOELYE-(D
@O B30 (IB®YB> IMWAENE.  AOIUICDOETE)
80) Moaly MO@ED ®mMIxEes].  oymi
SHOMOMIQ @UE®m MIMWo &aleoIwlay
DENMBOMENDIT VOB SHEOENSETTDs.

32. 3:243::5:_72

(1) 425 (2) 465

3) 625 4) 3125
33. 25:37::49: 2?2

1) 41 2) 65

3) 56 4) 60

WAEGUEBMD (@2106)6IBWD 34 MM 36 AUO®):

®mMISI88 MO QUIHNIBHEI@M BMYmO (™o
oQuesIld@ allamie QY@IRMO6T.  QY@YIR-
QO QUOBHE) BEIENSOIB)s.

%)

34. (1) eaouml
(2) Moo
(3) ollaje
(4) @oeyalmlwo

35. (1) &eiensd
(2) UdHo
(3) ool
(4) @davo

36. (1) @msl
(2) Qlyddo
(3) anelo
(4) oo

P.T.O.
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Directions (Questions 37 to 40) :

Read the following information carefully and

answer the questions given below.

Rahul and Krishnan are good in Cricket and
Volleyball. Sachin and Rahul are good in Cricket
and Hockey. Ganesh and Krishnan are good in
Kabaddi and Volleyball. Sachin, Ganesh and
Michel are good in Kabaddi and Football.

37. Who is good in Cricket, Hockey and
Volleyball ?
(1) Sachin (2) Krishnan
(3) Rahul (4) Ganesh
38. Who is good in Kabaddi, Cricket, Hockey
and Football ?
(1) Sachin (2) Krishnan
(3) Ganesh (4) Rahul
39. Who is good in Kabaddi, Volleyball and
Football ?
(1) Sachin (2) Krishnan
(3) Rahul (4) Ganesh
40. Who is good in all the five games ?
(1) Rahul
(2) Sachin
(3) Krishnan
(4) None of them

ENG+MAL

MAT
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A

763U M (@2106)6IBMW 37 )™M 40 AUO®):

mmIgies AlAIEaB® (»RLEWINS Uy
2RAIOSWIES B2IOBYETBRIOS HOMNO af)$IBD:.

®da0)elo B jad emmio @longlelyo
cauogleeauoglello alsieen®dem.  qvallmio
®0a0iello  (BlHOglellc  Bandsellello
Q1S)EOHEO6M.  WEBEMaHjo  dbjaH 6MMJo
denialflelo eaIogleenioglrlo allsyeen o).
mo)1d, weemad, €OQECHH@ ag)MMIUd
Benialilelo anysmidgleno alsieeoen.

37. (®&loHQ, GaddHHl, GOGIEGMIOWD
ag)mMilcIQ@d alsyeand eoooem ?
(1) maflad (2)  Byademdd
(3) ©OaO)®D (4)  wesmayd
38.  @enuawl, (@leeE, GaNIHE], anSeNIow
ag)mMilcIQ@d alsyeend eooem ?
(1)  avaflad (2)  Pyariemad
(3)  meeMaH (4)  @2a0)®
39. &enuawl, GQUOSIGMUIMD, anYSenIow
ag) M@ alsyeoad @aooeT) ?
(1) avaflad (2)  Byariemd
(3)  @Ja0®d (4)  wesmad
40. @oem Heldglello  AlSIEOMOIQ®
@OO6M ?
(1) ©Oa0)®d
(2)  maflad
(3)  Byaremdd
(4) @ooylg



Class — X

Directions (Questions 41 and 42) :

Read the following information and answer the
questions given below it.
‘A +B means ‘A is the daughter of B’;

‘A X B means ‘A is the son of B’;

‘A —B’ means ‘A is the wife of B'.

41. If PxQ-S5, which of the following is
true ?
(1) Siswifeof Q
(2) Sis father of P
(3) P is daughter of Q
(4) Qs father of P
42. If T-SxB—M, which of the following is
not true ?
(1) Bis mother of S
(2) M is husband of B
(3) TiswifeofS
(4) Sis daughter of B
43. The average age of three students and the

teacher is 24 years. All the three students
are of same age. The difference between
the age of the teacher and each student is
28 years. What is the age of the teacher ?

1)
(3)

35 years (2)

(4)

36 years

40 years 45 years

ENG+MAL

MAT

13

W1ACZEBW (82106)6MBW 41 9o 42 9o) :

omiges alaeeas®d uowlal” @@im)
2RAIOSWIEES B2IOBYETBRIOS HOMNO af)eIBD:.

‘A+B -wieos @rd®Ooo ‘A -@oem B -@es
a@l’;

‘AxXB -@ies @d®moo ‘A -@oem B -@es
alR(@’;

‘A —B -@es @odmo ‘A -@026m B -@es @0wy’.
41. PXQ-S oM @aMigeensssl@d olaies
61805} VRIEQ @ ?

1) S @em Q -allod o)

2) S @em P -Qes @ogld

3) P eoem Q -allod ad@d

(1)
(2)
)
(4) Q @M P -@es @ogld

42. T-SXB-M agan ®mIg66emsesslcd

2QOSWIRRBI@ PBlWEOED® @ ?

1) B @oem S -6 @oo

2) M @osem B -wies d@®IQT

3) T @em S -6 @Oy

(
()
)
(4) S @M B -Q6OS 0D

43. oM Qlleyd®mOle:81ESWIo B0) @oUOal-
HEBW0 LDOOUDE] QU 24 @DEN. @Yy
Aeyod@AleBEN0 BBO (ald0MO6M.
@OUWIOalHBMRWI0 BOCDD B3lWICSW 0
UOIGHD cmless alymydmo 28

@D6M). @OUWO 6] AU ag)@QO6EM ?
(1) (2)
() (4)

35 mcxvq;g’ 36 mw(gg

40 o_m)q}g 45 m@q}g

P.T.O.



Class - X
Directions (Questions 44 to 47) :

Read the following information carefully and

answer the following questions.

In a certain coding system,

816321 means ‘the brown dog frightened the

J

cat’.

64851 means ‘the frightened cat ran away’.

7621 means ‘the cat was brown’.

341 means ‘the dog ran’.

44. What is the code for - ‘the dog was
frightened” ?

(1) 5438
(2) 8263
(3) 1378
(4) None of these

45. What is the code for - ‘frightened” ?
1 2 2 3
3 6 4) 8

46. What is the code for - ‘away’ ?

47. What is the code for - ‘brown’ ?

ENG+MAL 14

MAT A

71R6GUeBM (@2106)6IBM 44 M)MM 47 AUO®):

ajIesWIgs AlUEEBWw  ¥)ARLEWINS
QU HEHs. @SAOMIBE G2 I0B)EIBRIOS HBMOO

Q) PADIB>.
60} 80Wloty l@il@fl@d

816321 ag)omomd ‘the brown dog frightened the
cat’ ag)moem.

64851 ag)Mo@d ‘the frightened cat ran away’
ag)aMnoem.

7621 ag)0mom ‘the cat was brown’ ag)moem.

341 ag)MO@ ‘the dog ran’ ag)omoen.

44. ‘the dog was frightened’ agy(mmle
B0 )1y ?

(1) 5438
(2) 8263
(3) 1378
(4) OUOWOIMDELY

45. ‘frightened’” ag)mmlengd G0 ag)m ?
1) 2 2 3
3 o “4) 8

46. ‘away’ agMm@IeN GHOW ag)n) ?

47. ‘brown’ ag)M@IOM GHIU ag)a® ?
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Directions (Questions 48 and 49) :

Two Statements followed by II or III
Conclusions are given below. You have to take
the given two statements to be true even if they
seem to be at variance from commonly known

facts. Read the conclusions and then decide

which of the given conclusions logically follows
from the two given statements, disregarding

commonly known facts.

48. Statements :

All film stars are playback singers.

All film directors are film stars.

Conclusions :

I.  All film directors are playback

singers.

II. Some film stars are film directors.

If only conclusion I follows.
If only conclusion II follows.

If both conclusions I and II follow.

If neither conclusion I nor II follow.

ENG+MAL

MAT A
W1ACZEBW (82106)6IBW 48 ©o 49 9o) :
6Ny (LU ®OUMS B0 @OCUCWOS-
ngeniauilojies I @oeg)ssl@ III mlnamemg)o
E1B0SIHOIMY.  OAIIBINUIWIBS UODEMBHUWDHE)
UloELAOWI@ GaldRljo N3] (alMY@OCUM-
BHERW0 YOBIIEEMATY @O B>OYMEMo. @O
M@YDOOBMMN OB OHNIMNE MWNAMETBUD
QU B0, BO@IMY GUoato WM ®QIOS
@OSIOOMEBI@ oRO®L|00 MINAMEBO6T)
NEIOWVIZBR® )My HEOENBEITE:. @O0
MNaMEBEIT o) OMIGMUIWD Hald®mIOIOW
WOMEMBHMD BHEMBENORISIEHOENBMIL).

48. (UIOV®OIUMBWD :
ag)glo almlad msmmonio allomem]-
DOWEB0I6M.
ag)g)o aladlmd o lwowe®e milailmo-
MSMA@OOI6M.
wlnamend :
L oggo almlad coallwowdoio
aflomenl ;o E:o6).
II.  ofler WlmMlad msmod mlmlmo-
oW BIMO6M.
(1) olwamo I md@o allad@sdmo®d.
(2) dlmamo I ao@o allad@sdMOE.
(3) mlnamen®d I -po II -oo allad-
®SOMO@.
4) olwames®d I -eo II -0 olldd-
@sdMl6eg) ss1@d
15 P.T.O.
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49. Statements : 49. (AJOUDOICUMEBWD :
All politicians are honest. )]0 00l (aIQURODHH0lo V@Y -
VM.
All honest are fair. Qg)LIO @I IWDLe MG ISR
(e UB@BHOMAUGI6M.
Conclusions : mlnamensad :
I.  Some honest are politicians. L ofler cooycocwd 00edl@ (elald-
(QOECII 18
II.  No honest is politician. IL  qu@yuawegoem@ow 00 eYlw
(IQUBEDBHME] .
ITI. Some fair are politicians. . Aelwiemade)] (aludosleniom
ofleinosslego 00l (elId@D-
BHOOEM).
(1) None follows. (1)  semMio alldd@soymigy.
(2) Only I follows. (2) I oo@o allad@smamy.
(3) Only I and II follows. (3) I-901II -po alld@ysoymy.
(4) Only I and III follows. (4) I-&o III -80 alldmysoynmy.

Directions (Questions 50 and 51) :
Study each of the following tables and choose
the alternative which can best replace the

? mark.

0- 1yl 7]w0]2]2]3
12 142 (90| 2 |20 ] 6
@ 5 2 1
@) 3 4) 6

Loyl 23456
2 5 (1210 |15 | 25
121|255
1 4 2 3
@) 2 4) 1

ENG+MAL
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mdegrem®d (82106)6mBUWd 50 oo 51 9o) :

21UOSWIRS  6ol0ByBglnal  alSldhdh0d
mgjlepo aMQIRINEE:.  Bo®IMIGUaHo
821062 llam@E®IO@ (?) OdMEDIIGD6MS

moely ®MIZER OOVl H B8]
MM NSO 6.
50- 147 10]2 213
12 (42 |90 | 2 |20 | 6
1) 5 2 1
3 8 4) 6
oty 2a]a]s5 |6
215 [12]|10 15|25
1|2|1|?2]|5]|5
(1) 4 2 3
3 2 4 1
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Directions (Questions 52 and 53) :

Study the information given below and answer
the questions that follow.

There are 40 students admitted to a nursery class.
Some students can speak only Malayalam and
some can speak only English. 6 students can
speak both Malayalam and English. The number
of students who can speak English is 16.

52. How many students can speak only
English ?
1) 6 2 8
3) 10 4 12

53. How many students can speak only
Malayalam ?
(1) 30 (2) 24
(3) 34 4) 22

Directions (Questions 54 and 55) :
Find the next figure in the series shown as
Problem figures. Choose your answer from

Answer figures.

54. Problem figures :

(SN S S
NGNS
(A) (B) ©

Answer figures :
NGBS oY%
1) (2) ®) (4)

ENG+MAL

MAT
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W1ACGEIBWD (8210B)6BMW 52 Ho 53 Ho) :
@mlgies aflaleestd aowlayy amqleld-
HOQGIM GUoato 2 RAIOSWIRE BIOBYIRRIOS
PIGOIIRINEI IS

6303 MLV HOQUIE 40 Bl DENE. B0
Sl DRIWISo MI(@ED TVOMVIDI LI
&91Q]. 102116aldH6 Doladi’ MO(@BED
MoMIBILOOIM &Y. 6 &BYS1BHDBHE
snogglaHio MEIOBNI0 MVOMIOBIHHIM BH¥lw]o.
gnogglal oMVIEIHHIM BHF@INMN BRG] BHRIOS
ag)eho 16 ®@»em.

52. o)l® &HISIeHBHS  o@lai @O (@o
MoMOEIHHOMD BrFlo ?
1) 6 2) 8
@) 10 4) 12

53. af)l® »)S1eDHE DRIOgo @O(®o
MoMOEIHHIM BFlo ?
1) 30 (2) 24
() 34 (4) 22

W1dCGEBW (82106)6MBMW 54 o 55 9o) :
swyemlo®] ofl@aBW M@ e
Bo10By0JalMBRIM  @OSIEMIUOIME® @ ?
meBaes HEMoo H@MOOalealed mlano
DO QETONS)HE) ).

54. @2106) M)aleBw :
NSRS 5
N NS

(A) (B) ©)
OO BJal6tBWD :
N NGB NGB B
(1) 2 &) (4)
P.T.O.
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55.

56.

57.

Problem figures :

9

(A)

o

(B) ©)

Answer figures :
(1) (2) 3) (4)

Examine the pattern and find the missing

one.

65]

88
16]12| |10[13] |2 ]11]
1 12 2) 24
(3) 10 @) 16

Four figures are given below. Three of
them are alike. One is different. Identify
the different one.

ENG+MAL
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MAT

56.

57.

32106) M}al6vBW :

@i%%

OO BJal6tBD :
@ 2 3) (4)

2AUOSWIRS  alderem  MICledlo)’
Q151BaI0Q® 5HEENSEB I

9] 65]

16]12|  [10[13] [?]11]
(1) 12 2) 24
(3) 10 @4 16

moel o@D 2AIeS M@dEsIQIgIeNE.
BO@I@ MM 2l(@EBD S016aldeel-
@ER®O6M. BN QUI®IDOQW@0.
QU®IRDOQ® H6)6NSOEIH.

(1)

sl
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58.

59.

60.

61.

If HEALTH is written as GSKZDG, then
how will NORTH be written in that
code ?

1)
(3)

OPSUI GSQNM

(2)

FRPML (4) IUSPO

If in a certain code LUTE is written as
MUTE and FATE is written as GATE, then
how will BLUE be written in that code ?

CLUE GLUE

1)
(3)

(2)

FLUE (4) SLUE

In a coding system A =26, SUN =27, then
CAT=?

1) 24

3) 57

Five bells begin to toll together and toll
respectively at intervals of 6, 5, 7, 10 and
12 seconds. How many times will they
toll together in one hour excluding the one
at the beginning ?

7 times 8 times

1)
(3)

(2)
(4)

9 times 11 times

ENG+MAL
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MAT

58.

59.

60.

61.

A

HEALTH omM®@leom @00 @0au@fl@d
GSKZDG ag)M ag)9i@m). ag)a) @oe®
800l NORTH ag)emBem ag)ei®io ?

(2)
(4)

OPSUI GSQNM

(1)

(3) FRPML IUSPO

80) 830w @@ LUTE ag)maey
MUTE ag)myo FATE agam@ GATE
af)(Mo a)PIMIMI.  DB® GHOW'
©a16oUdloj BLUE agimm@ilem ag)emem
ag)wi®io?

(1)
(3)

CLUE GLUE

(2)

FLUE (4) SLUE

80} BHHOWlowd MMUBIWEBI@ A =26,
SUN =27 agymo@ CAT= aogemem
B0 ©)21Qo ?

24 27

(1)
()

(2)

57 4) 58

5 o6l aoialel memlmoce mye-
HHO0YNE. @R BOBOIMMo MEMIMIBo
DIPHNMT @LAO (ko 6, 5, 7, 10, 12
ag)(Ml OAVHODIBHENLI06M.  g)ssIEd 0]
QM HNOIM g (@®UEM 0D @6
OMILNHD Boyalo)” memimyesenio ?
®SHOOTIGRI® o lBlWEmICHNENSaIL.

(1) 7 a1oQuuyo (2) 8 (alonuudyo
(B) 9 ltoQuuyo (4) 11 (JoQlwdyo
P.T.O.
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62.

63.

64.

How many squares are there in the figure ?

Find the correct mirror image of

MAGAZINE E

MAOAXIVIA

1)

(2) aMIZADAM
() MADAZIVA
4)

HVINAODAM

Choose the correct mirror image of the
figure (A) from the alternatives given

below :

ENG+MAL

MAT

62.

63.

64.

A

2 @ETI@ ag)@ TVD2I®O608RD o6 ?

MAGAZINE E -0 AIWIW Bda|6Mm

(al@lendlosnio aR@ ?

(1)  MADAXIVA
(2)  dAVIZADAM
() MADAZIVAE
(4) HVISADAM

(A) g 2l@EwlOM do Bdalem
(al®@lenfloenlo 213QUOS M@ WISI88
OEMO 2@l (Mo B66NSEB .

(A)
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65. Find out which of the answer figures
(1), (2), (3), (4) completes the figure

matrix.
O
?

Q 0|0

o
Q
>

Answer figures :

1)

Directions (Questions 66 to 69) :

OO

3) 4)

>
~—

A cube is coloured white on all faces. Then it is
cut into 64 smaller cubes of equal size. Now,
answer the following questions based on this

statement.

66. How many cubes have no face coloured ?

(1) 24 2) 16
3) 8 4) 4

67. How many cubes are there which have

only one face coloured ?
1 4 (2 8
3) 16 4) 24

ENG+MAL

MAT A

65. 21IeOSWIEs 2@ OASIBTY alyddN-
BAlHEMEIN a@Ro BOMNIERIORYMOW)
OO0 afl@o (1), (2), (3), (4) - @ age®OTY

B6)EMBED .
O
?

O

Q
>

O™ 2l :

QOO O

(1) (2) ©) (4)

O |00

>

T1AGELEIRWD (@210B)EBW 66 MITED 69 ALUOO):
B0} MO2®IOHNG (dhyleni) -@OS ag)Llo
QoEIERl0 OIS el 601 @EleeMy.
@O®IMIGMato OMIOM 64 62101 @MYLl
aleflojemlenss aal®yeengeHao] myol-
HOYMY.  OBOM @D EROHE 21J010SWIes
B210B)EIBRIOS HBMOO af)PIBUB:.

66. &0} MEUQI MO0 OBISIHNIEB af)(®
d)ENBHUD ©ENMBOB0 ?
1) 24 (2) 16
@) 8 4) 4

67. &0) 0)elo MO(®@o Mo SISO af)(@®
)ENBHUD ©ENMBOHH0 ?
(1) 4 2) 8
@) 16 4) 24

P.T.O.
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68.

69.

70.

71.

How many cubes have two white opposite

faces ?
1 o 2 8
3) 16 4) 24

How many cubes have 3 faces coloured ?

24 16

(1)
3) 8

(2)
4) 4

Three persons A, B, C are standing in a
queue. There are 5 persons between
A and B and 8 persons between B and C.
If there are 3 persons ahead of C and 21
behind A, what could be the minimum

number of persons in the queue ?

27 28

1)
()

()

40 (4) 41

In the table, the numbers in rows follow a

rule. Identify the rule and find the missing

number.

5 [570| 7

4 |271] 6

3 1480| ?

1 5 2 9
3 10 4 11

ENG+MAL
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MAT

68.

69.

70.

71.

A

flaudle melesalcd ogs Oalefla@sloy
Q)@ HYENNBWD HENSIdHY0 ?

1) o0
(3)

2 8

16 4) 24

@MY OEUEBBURHE) (Tl00 E1BDSIBTD ag)(®
)ENUBHUD ©ENMBOB0 ?

(1) 2
3) 8 4) 4

24 16

A, B, C og)ml mimy QUyd: @D 6303
audll@ mla@enyomy. A -@'eejo
B -@@9io nsilad 5 el o6ne.
B -@#6))o C -@d6)o snSQI@ 8 Gald o6ns.
C -0es oymMI@ 3 Galdjo A -Q'es
aflosslad 21 Galdlo ONE. af)®sl@ @Y
U@ a@ROllo BIOTME® ag)(@®Eald
©6N80dhjo ?

(1)
(3)

27 28

()

40 4) 41

alSleQ@ AUGIWIeN&s Mo6yd:-B 630)
aleniawm atoelleeymy.  eD mleriauwm
am@lenssl  aflgieald®  avoeal)
B6) NS OTD)Y>.

5 [570| 7

4 |271| 6

3 (480 ?

10
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Directions (Questions 72 to 75) :
Three different positions X, Y, Z of a dice are
shown in the figures. Answer the following
questions which are based on these figures.
X) (Y) 2)
72.  Which number lies at the bottom face in
position (X) ?
(1 2
2) 3
3) 6
(4) Cannot be determined
73.  Which number lies at the bottom face in
position (Y) ?
1 1
(2) 2
3) 5
(4) Cannot be determined
74. Which number lies opposite 6 ?
1) 1 2) 2
3 4 4 5
75. Which numbers are opposite to the
numbers 6 and 5 in position (Z) ?
(1) land 4 (2) land3
(3) 4and3 (4) 1land2
ENG+MAL 23

MAT

A

W AEGUEBMD (@ 2106Y6IBM 72 O 75 AUO®):

80 OeLMION MMM QG MVOOMENBHD X,
Y, Z af)0M Gal@l@ 21)Q16)S 6)d0SIEBIH630M].
09 2[|@IROS BDI BRI 21)010S IS}
OB HOIM BoIOBIEIRRIOS OODO0 af)PIBHs.

72.

73.

74.

75.

ofl@o (X) -6M 21QISIO8l MEIED af®
o6y @ldleae ?

1 2
2 3
@) 6
(4) dldemlenomd mowyme)

2ll@o (Y) -@jes 21QISler aeloTs) agy®)
o6y @Idleae ?

1 1
2) 2
G >
4)  oldeme6ndm MOWDE

6 ag)(M QVOEUYWIOS af)BIVUNET @
o6y @RQIGlee0 ?
1) 1
() 4

afl@o (Z) -@ 6 -e@@io 5 -caBwyo
Q)@ BUCEDIBR MV aRe®EL|O-
o6y ?

(I) 1-04 -0
(B) 4-903 -50

(2)
(4)

1-80 3 -60
1-60 2 -0

P.T.O.
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76. With reference to the figure (X), the | 76.
number of different routes from A to B

without retracing from C and D is :
A B
C D
X)
1 3 (2) 6
3 9 4) 18
77. The elements of the problem figures given | 77.
below are changing with a certain rule as
we observe them from left to right. Find
the next figure from the answer figures.
Problem figures :
IR
Vv A ™
Answer figures :
) (2) 3) (4)
ENG+MAL 24

A

®miiges 2fl@o (X) -om @ Ea0Hs)
A -@fl@ mlongo B -@leriss) ag)@mond
C -afleio D -aflego amileiwldo malem
IO(® ©21QYIO® ag)(@ QABYTY aldBdEUd
e6ne ?

A C > B
(X)

1 3 @ 6

B) 9 4) 18

EDSEBIMIMYo QAULIBEMHE) 2 1)UOSWIER
I@oll@esd mloledlojod allel
(IC@Yd MINUMLME:WD @MY@ 06m
BOMERER UM GIBOWD MemBIMeO®ATY
06MD0. af)ssI@ @OSYOT) (LGOMS 2fl(@o
@O BlHeORMM HEDO o fl(@63&]@d
Mmoo BHOENSEYBH.

1@ 2Nl(@emBd :

~

v \

oMo all(@emnwd :

7
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Directions (Questions 78 to 82) :
Read the given information carefully. Then

answer the questions that follow.

Video classes on 5 subjects - Malayalam, English,
Maths, Social Science and Science have to be
arranged in a week from Monday to Friday.
Only one class can be arranged in each day.
Malayalam cannot be scheduled on Tuesday.
English teacher is available only on Tuesday.
Maths class has to be scheduled immediately
after the day of Malayalam class. Social Science
class has to be scheduled immediately before the

day of Malayalam class.

78. Which class is scheduled on Monday ?
(1) Maths
(2) Malayalam
(3) Science
(4) Social Science
79. Which class is scheduled between Maths
and Social Science ?
(1) Malayalam
(2)  Science
(3) English
(4) No class
80. Which class is the last one in the week ?
(1) Social Science
(2) Science
(3) Malayalam
(4) Maths

ENG+MAL

MAT

25

A

WdeGUoeBMD (82106)6IBMD 78 B®@ 82 AUOO):
®M1588 AW (BERLEWINS LW BE):.
@ISO M@BHIQIS188 G2I0BYIBRINS SO0
B6) MO B>

DeIWOgo, o@lad, weMl®mo, GIVIaUY®
MMM, MMM ag)Mil 5 Allanemsans
aflalewd &oqIH@d B0 alwlonl @ledd
D)@ eagslaleowies clalqeasglaowl
(@2l BElenemo. 6} Ao 60) &OQ) 2@
(DA SO 6000 al0S)88). 0LIWIBe O
6.210QJ0¥ 21 (BBl0lE0HM BFlaflg). snoudlast
SloJd ©210Q)0¥ 2l MO(@ED LIBYDIBBHQIBE).
2el@o80 GOWIM e®IgSE® clalmadem
wemla® @oqg (D BHO1BHHMNBD® . DEIQISO
HOWIM e®Og0mMas Elalavo @aVIauy@d
QUMM oo (Bxalex@lHnsmo.

78. ®1®R0Yal  of®  HOQ @D
(65>l @l2 1@l M @ ?
(1) weml®o
(2) 0oeIWORO
(3) M
(4)  GMVOAHUYE QMM
79. WeMIO®BIMIo BAVIAUY@ M@ MIVIMIo
OSI@ oR® O @YEM (Bl ®l-
afldlemnmae ?
(1) oelogo
(2) M
(3)  snogglat
4) e Gopualy
80. @OY21Wee @OAIMOIMOE®D &)
@6 ?
(1)  GMOaHYE QMM
(2) M
(3) 0oeIWOKo
(4) weml®o
P.T.O.
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81. Which class is scheduled on Wednesday ? | 81.
(1) Malayalam
(2) Maths
(3)  Social Science
(4) Science
82. Which class is scheduled before Maths | 82.
class ?
(1) Malayalam
(2) Social Science
(3) English
(4) Science
83. Consider the following figure and answer | 83.
the question that follows.
30
sq. cm
72
sq. cm
A square is divided into four rectangles as
shown. The length of the sides of
rectangles are natural numbers. The areas
of two rectangles are 30 sq. cm and
72 sq. cm as marked in the figure. Then
what is the length of each side of the square
incm ?
(1) 15 (2) 14
B 17 4) 12
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A

IWMOYal af®
(-0l0l o588 ?

O @M

(1) oelWogo

(2)  weml®o

(3)  BMVLOAHYE RN
(4) M

0eNl® oIy T aR® oqoem
(00l IS8 ?

(1) oerIWORO
(2)  BIVOAUYE MMM
(3)  enogglayt
(4) M

2UIeswias  o2fl(@o  al@lwemlal’
M@ Q15188 62106EWIM  HEMmOo

QG A1

30
21.60.0.
72
al.e.al.
B0) D21 @0 6) YD) (@ @] @3
&o6emla)lolenym  dl@lle  moel

21e06m80Q) Qllegdlofldlenymy. o1m)o-
BRIOS AUNEBRIOS WIBBR ag)en@
Mo6UYBHEO6M. @O O6NE 2l@®I0-
EBRIOS ala |80 30 21.600.01Q00
72 al.om.algolo 2l(@EWIG @RSWOg-
£SO QW ®IBaIOORIWIEM .  af)®s1@d
MO2I®OOMION B8600 QAUROMIOM
mlaaiio ag)@ e@lalqd allmmosm ?
1) 15 (2) 14

@) 17 4) 12
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84. Four cardboard pieces of specific shapes

are shown in the following figure.

T~
N

Which of the following figure given can
be formed by joining these pieces

together ?

(1)

(4)

Directions (Questions 85 to 87) :

In each of the following questions, various terms
of an alphabet series are given with one term
missing as shown by (?). Choose the missing

term from the alternatives.

85. K,N,Q,T,?
(1) U

G W

ENG+MAL

MAT

A

84. &0 Mlvall® BOHIGIWeNas &0dWw -
@ENIOAU) HraHeMEmR 4 ag)gRo 21AUeS

2 l@EslEd M@dssl@f@leeiom;.

[~

N

6D HrateMETBUd Moswoedafla] 210IeS
£)80S)O1 0] H6H;M AU @ oR@ ofl(@o
010 ]S)OMOM MOWlHe0.

(1)

4)

T1de3LEBRWD (@210B)6BM 85 M)®®D 87 ALOO):

21JQAIOSWIBR BIGOD BolOB)EmIRI0 BOHHMO-
B UyEMIdH806em MmBWgea®. @3
13160 10@ @oBH0o (?) @OSWORAS avyall-
allafldlenamy. ®@amlsies oemoesal@alony
NOIWOIW HAMOO BEENSEID:.

85. K,N,Q,T,?
1 U

G) W

(2)

\%
4) X
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86.

87.

88.

MAT
Y/ B/ T/ G/ O/ ? 86-
(1) N 2)
B M 4 K
psrtwvx?z 87.

1 vy (2) b
®) u 4) a

Choose the odd number pair which is

88.

Y,B,TGO,?

psrtwvx?z

1)y (2) b
®) u 4 a

213AUOS  OISIEMIBIHHIAM (VoD

different from others.

1) 5,13 2) 2,17

(6) 38 (4 7,1

89. Choose the odd word which is different
from others.

(1) IMF (2) SAARC

(3) UNICEF (4) WHO
Directions (Questions 90 to 92) :

There is a certain relationship between two given
Identify this

relationship and find the missing number on the

numbers on one side of : : .

other side.

1) 63 ) 81
(3) 90 (4) 99
ENG+MAL

-eROWIHElM a@ues  eRoWleHalad
mlomgo QA@IRMOQE afy® ?

1) 5,13 2) 2,17

(@) 38 (4 7,1

89. 21JQU6OS OBISIAMISIBS UL @D
oQuesI@ wlom AGRO0WEH®) ?

(1) IMF (2) SAARC

(3) UNICEF (4) WHO

mdeguemB® (62106)6BM 90 MM 92 AUO) :

21AUOSWIRS Moelydal@ : : allam@mlm
EDS@IUNDTES VNS MVo6YdHRD ®ONIE 30}
(O IG@Yd> NUMWAENE. 6DV 6NINWO NSO
roflamemlend aoilnomigs Aflgicalow
(MVOBLY H6)6NBEYBIHs.

90. 7:56::9: 2
(1) 63 (2 81
3) 90 4) 99
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91.

93.

94.

95.

MAT
26:5::65:_2 91.
(1) 6 2 7
3) 8 4 9
5:36::7: 2 92.
(1) 64 (2) 55
(3) 63 (4) 56
How many integers are there between | 93.
1 and 100 which have 4 as a digit but are
not divisible by 4 ?
(1) 5 2 11
3) 12 4) 13
If X means —, + means =, — means X | 94.
and + means +, then 15—-2+900+
90x100 =7
(1) 60 2 -—60
3) 90 4 -9
If ‘when” means ‘X', ‘you” means “+’, | 95.
‘come” means ‘—’ and ‘will’ means ‘' +’,
then what will be the value of “8 when 12
will 16 you 2 come 10” ?
(1) 94 (2) 45
3) 112 4) 96

29

ENG+MAL

A
26:5::65: 2
1) 6 Q) 7
3) 8 4 9
5:36::7: 2
(1) 64 2) 55
3) 63 4) 56

smilmio 100 -Mgo SV BB alidem
MotUyHD  al®lemIdeid. 4 agom
@OBODRB®I0  af)(MO@M 4  6d06NE
ald®emmo@]  an@1eH0M  qOWlHH0-
OO@MOQ ag)(@ TVobyd-WD ONE ?

(2)
(4)

11

13

X af)(MO@ — ag)Mio, + ag)MO@ -+
)Mo, — ag)(MO@ X oMo, =+
Qg)MO@ + ag)Mio, BRAMOMOWI®
15-2+900+90x100="
(1) (2)

(3) (4)

60 - 60

90 -90

‘when’ og)MmOo@ ‘X’ ag)myo,
ag)(MmOm “ =+’ ag)dMo, ‘come’ ag)(MOmd
“—" agomyo, ‘will" agyomo@d ‘+ agymyo
@OAMOMOWIM “8 when 12 will 16 you 2
come 10” agyom@ileg allel ag)@® ?

(2)
(4)

’ 4
you

94 45

96

P.T.O.
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96. There are deer and peacocks in a Zoo. By
counting heads they are 80. The number

of their legs are 200. How many peacocks

are there ?
(1) 60 (2) 50
(3) 30 4) 20

Directions (Questions 97 and 98) :

Read the information carefully and answer the

questions that follow.

A, B, C, D and E are sitting around a circular
table. C is to the immediate right of A and is
second to the left of D. E is not between
A and D. Then:

97. Who is between C and D ?

A
B
E

Cannot be determined

98. Who is second to the left of C ?

ENG+MAL

MAT

30

A

96. &0 0)NU0RIVIG MOMB:Rl0 MWRE:)0
O6NE. EOOUIWIOS ERIGWD ag)elemoss-
WEQ 0@ 80 ag)EP@eNE.  @OUIWIOS
HOLUMRIOS ag)eo 200 @DEN.  og)ssl@d
0 N00RIRNE ag)® 0@fles-id e ?

(1) (2)
(3) 4)

60 50

30 20

mdeguem® (82106)6IBUW 97 ©o 98 9o) :

21065WIRs AlAIEEB BRLEWIOS LW a]
@SOS B2IOBYETBRIOS HODOO af)FIMI:.

A, B,C, D, E ag)amilcud Quj@moss@ilQilenes 6o
sov@ialinie AleeIMI. C alenme
A -@ies @IS QURIGIIGEMOEN. MO(@AL)
e emigs D -olad mlm’ omso-
o@@o6m. A -@io D -@io sns@ey E sneloey-
mM®. ag)ssl@ :

97. C -@io D -@lo S nalHeIME®
@) ?
1 A
(2) B
() E
4) oleemlenom s¥leigy
98. C -WOS HS®IURED OM3OQ®IW]
@OO6M ?
1 A 2) B
3 D 4) E
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99.

100.

Which is the correct mirror image of

EFFECTIVE E ?

HVITOdHHHA
EVITCEFFE
HITADTIVH

HVITOHFAH

If 18t February, 2005 falls on Friday, then
what will be the day on 18t February,
2007 ?

Sunday
Monday
Tuesday

Wednesday

-00o0-

ENG+MAL
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MAT

99.

100.

A

EFFECTIVE E ag)m QOSSO LAl

adalem (alaflendlosnio ag@ ?

(1)
(2)
(3)
(4)

HAVITOAAAH
EVITCEFFE
HIHAOTIVH

HVITOHFAH

& ®]
2007

RO

2005 @an(euiuel  18-00
OUSsIWOYal  @YEME: @
ean(eUiuel  18-00 @ Q®
Glaummofi@lesio ?

MOD
N
©.2100Q)

oM

-00o0-

P.T.O.
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